| 107%

| O 7

| O 7

| O

2 238%

238

238

238

BIZS ¢ A H

©) 1050 1 %2 L DN EDTE 23z

I I I
10, 100,1000

-~ |10

— 100 =

—~1000=

10, 100,1000

-~ |0

— 100 =

—~1000=

12952 r%, A THRLFEFL LI,
(HFFTVW=FIE, BZEYFLLI, )

(/iLQI O

| W | | O ,'7
7600 EQ
| YO 7
I
o
OsI O %7

IK¥52re, ATHLILLD,
DTVFEE, #TYEL LI, )

HIBTERYAY



CERROR 00 S
@) 1040 |1 % ¥ /ML EDBE 5 2%z

I I I
10, 100,1000

| 107% K352, XATHLEIL LI,

(HDFTVFIE. #ZEYFLLD, )

107 = 10=10.7 (—|07

|10
107 +100=1.07 , 100 Iglo‘ﬂ
1000 10
1 ;O 77
107 +1000=0.107 L
OsI O 7
2 238% IIO,Ié)O,IOIOO KT 52z, ATHRLELLI,

DFTVFIE, #TYFEL LI, )

238 - 10=23.8
238 - 100=2.38
238 - 1000=0.23¢8

© EE BX %ﬁﬁ?@?gwgg@ﬂkﬁ



